epd-norge.no

The Norwegian EPD Foundation

Environmental Declaration ISO 14025
"HE % &

| et
Cﬁ [Bstfoldforskning>

% 5 ,64!'$ ! 14 7 8 %56
& 3 + 0%1" 9 3
22 4!
0%1!'$ 2 3 2 13 3 + 0%1
" 2, & 2 &4
|
!
% )* "HS 1
+ "#$,) %!&" #
0 * +,
4&4+ 2 - "5 (; - (.1.

o, 2 - ).l E $ &1 $! 7 (( <8
2 $ ,42 41- <F 910 2 4 2 12 4 '$
- , 44 $*5 0%1 4 2

$2 & 3 - 5% @:! 53

" 4 - 14 A2 $ !

$nu2 - 2?31 2 4 4 13 914% ,4%$2 +2 4>

438% 13! 14 4 1 A2 231 3111 &,
11 3 2, ! $ 11411

= $! -

1 - $ - < $ &! -* I <7 " 8

0> 2" - 0 AB

52, - 54% ! ?4-C/ .. (2 4- 4D3

The sitting solution meets the
following minimum emissions
( requirements in the Greenguards
certification: Formaldehyde: <0.025
ppm (< 0.03 mg/md) (Greenguard
certificate).

It has not been possible to obtain data
onthe content of brominated flame
retardents & heavy metals. These
chemicals have not been detected in
HAGs production.

*1n % of analysed mass, input to the assembly department at HAG



Recycled paper/cardboard |kg/seating solution
Recycled textiles kg/seating solution
Including process & cooling water. Not

Water kg/seating solution 1315 17 13177 |including turbine water.

Biomass as arawmaterial |kg/seating solution 091 2,0E-08 43E-05 10,E-07 091

Recycled steel kg/seating solution 0,324 0,324

recycled aluminium kg/seating solution 0,29 0,29

recycled copper kg/seating solution

recycled plastic kg/seating solution 0,47 - 047

Iron kg/seating solution 0,40 4,4,E-05 2,0E-03 3,E-07 0,40

Bauxite kg/seating solution 0,79 6,0E-04 0,79

Limestone kg/seating solution 054 14E-04 6,9E-03 10E-06 0,55

Minerals, sand & stone kg/seating solution 19 3,6, E-04 2,IE-03 2 5E-06 195

Copper (inore) kg/seating solution 13E-03 2,6E-05 13E-03

Coal as araw material kg/seating solution 8,0E-04 11E-03 19E-03

Oil as araw material kg/seating solution 196 11E-04 20

Natural gas, raw material kg/seating solution 11 2,5E-06 11

kg/seating solution 0,36 | Water is not included in this calculation in
% order to make it more precise.

7*

1) 314

? &4
B! $
4 mG! A
1413
i m6 +&4 0 ,
. T — - T =4 %+
= — N m"!'140
< < ™ &
~ = @ - —_
< o
& - gF
o =
N

Coal M J/seating solution 2,2E-03 0,015
Qil M J/seating solution 85 13 0,41 0,022
Natural gas M J/seating solution 91 9,1IE-03 0,068 6,3E-04
Peat M J/seating solution 17 - 3,2E-05 -
Sulphur M J/seating solution 0,17 10E-10 2,8E-06 7,2E-13
M J/seating solution 62 2,9E-03 2,6E-02 4,4E-04
Biomass M J/seating solution 9 15E-04 45E-04 10E-06
Hydro power M J/seating solution 42 0,014 2,6E+01 16E-04
Wind power M J/seating solution 10 - 3,3E-04 -
Solar power M J/seating solution 2,8E-03 - 45E-06 -
Geothermal energy  |M J/seating solution 0,040 - - -

Waste incineration & 59 R R
surplus heat M J/seating solution i -

18 - 7.8E-03
M J/seating solution -

?23 12 144 &!

3

% 442> 3

17>

$3

2 &,

$

+8&4 4

,8

See
"Treatment
of waste
from the final
product"”

Including lignite

87

91

17

0,17

62

9

68

10

2,8E-03

0,040

-59

Including any use of energy
with hydrogen as the energy
carrier

18




kg CO2 equ./seating solution 24,0
kg CFC-1lequ./seating solution 3,12E-05 8,2E-10
kg SO2 equ./seating solution 0,10 2,JE-05
kg ethene equ./seating solution 0,020 2,6E-06
kg phosphate equ./seating solution| 0,013 13E-06
kg Pb equ./seating solution 12E-04 7,4E-06
m6+2 41 A
m? ! $ 2 !
m% I A N284,
m B! 3!
) )9. 6 <

CO2 (fossil) kg/seating solution 20 0,040 20
kg/seating solution 0,075 7,7E-06 3,7E-05 12E-06 0,075
kg/seating solution 11E-03 11E-03 8,9E-07 3,6E-06 11E-03
kg/seating solution 0,044 10E-03 24E-04 9,7E-06 0,045
kg/seating solution 0,061 4,2E-05 7,0E-05 13E-05 0,061
kg/seating solution 3,9E-03 2,0E-04 19E-05 3,7E-06 4,E-03
kg/seating solution 0,10 4,4E-04 6,1E-05 3,4E-06 0,100
Dioxin kg/seating solution 8,5E-12 4,6E-17 4,0E-15 32E-19 85E-12
Water to waste treatment [kg/seating solution 64 - 13 - 78
COD kg/seating solution 0,048 0,048 3,2E-07 3,6E-05 See 0,048
Tot-N kg/seating solution 3,4E-04 3,8E-08 3,6E-07 14E-08 | "Treatment 3,4E-04
Tot-P kg/seating solution 2,7E-04 16E-09 2,3E-08 1E-1 fm‘:; ‘(";]a::]al 2,7E-04
Dioxin kg/seating solution 2,8E-13 - - - product” 2,8E-13
Phosphate kg/seating solution 73E-04 16E-09 7,1E-07 3,9E-10 7,3E-04
Nitrate kg/seating solution 6,2E-03 3,9E-08 5,3E-07 17E-08 6,2E-03
waste to material recycling | kg/seating solution 0,19 - 0,34 - 0,53 |Including reuse
waste to energy recovery |kg/seating solution 0,10 - 0,25 - 0,35
waste to incineration kg/seating solution 9,4E-03 - - - 9,4E-03 |Without energy recovery
waste to landfill kg/seating solution 145 - 5,4E-04 - 145
Hazardous waste ka/seating solution 05 5,8E-06 0,061 4E-08 021 ::["”s:‘gg/:fg:mve waste
Other waste 0,18 7,5E-04 2,5E-03 5,2E-06 0,19 |Unspecified waste
kg/seating solution
112&4, H4 41211 1$2 $3 ,3 !! 9!

H% !

4 $ 2

230 2 414 31& 24 &! 3% 5 ,64!17%568% 3
14 17 8731 4 $4$441 3 ; 21 3 4 41
+33%563% 94% 2 In2 & 1+ 31$  +4
3 44% 2 Lo $ 4$3 1 14 $
122 2 4 & 2 $ | 3% !
Lo $ 0 ! 31 14,5 $
$ *+02 % I$ 26 $3 | 14 |
+1 1 4 484 2 4 44 $ 3 1211 13
I 1%5 322 +
"1&'4 $$ 31 41 $& +33 31 %+ 14 123
2 I3 31 4 $44
233 11 $ 4 4% 132 3 4 1 >4 14,& 3
3 14,& 12 4 2 4% '$ ,4 44$34 4!

K?'& LI 214!

?3 3
2



F Al
3 -F
F F
/| F
< F
E
F
) F
E
E
E
; +) "#$ < +) ) )
% & ( )
$11 1132 124 4 1 &, 23! 14 3! 3 44% 2 3 > 132
1 32222 $4 2& ! ! $389% 4 7,18 1! $33 1 3% 1 & +
+ 1G3 3! 14 $ 44, | 3 + +1 112
I 412 3 341 2 4 L, 31 114 3 12 4
4 $44 $3 2 | & + 13M
+1 3 + +!1 112 F$32 41 ,4 !
+34 3 ) Yy 1) ) ) (1%
34 41 11
<0) ) =
% )
1 3 $ &' $! 1 4 $ , + N 44 211 | 12 $! 14 3 $
2 4 ! ! 4 , [ 4 * 31& !'$ 3!
) N?3 4 12 112 &$23 42> 3
N G3 2 4 1 211 , 12 1> $ 3 2 13 &, $ + &4
+3> 4 4 ,
N G3 4 2 4 3 211 s 0) )
12 4 3 ,4 " 4 " ?28&4 7! 121 4 K%
No2!Il 1$ 2 44 3 123 113 72 48L
I
NO21 1§ 2 $+1 + 3 ., 44 1311 1 & 3 2,
3 1243 341 11 21 312 24 $3 >41 |3,
N“ 1 4 1+324( N3 44 &l 321 >4 3 32 4 G1B 3
&4 131$2 31& I 4 484321 4 24 41 1 4 23 %56 ! 4 4
$ 431348 4 31 31 73 n2 12 &l
> $2%% &' 2 !

# $ %
3 -@@+++ @1" 4'@5 $ % 1>0
23 + 0%1" 7 8- & # %  (# O)&(CS ++
, - & # )&*$ + #  #+.
- < , - - %/$ - %& +
$-01

- < , - - %/$
P #
- < , - 3
%& + + #
34 7 8-1%46! 3

$ # 356"71 # $
$ # 5 G
7+ 8

%

- %(2 # -
+ 444 -
6 -L /$
.- )&*
+.,1.0) 8



